ENGINEERING
INFORMATION

LINEAR MEASURE CONVERSIONS

MILLIMETERS TO INCHES INCHES TO MILLIMETERS
mm. Inches mm. inches mm, inghes 1Mé" = 1,6 mm 1" = 25,4 mm
g = 0039 10 = 3937 45 = 1,77165 18" = 3,2 mm 2" = 50,8 mm
2 = 0078 11 = 43307 50 = 1.9685 316" = 4.8 mm 3% = 76,2 mm
3 = 0118 12 = 4724 55 = 2.16535 1/4" = 6.4 mm 4% = 101,6 mm
A = 0157 13 = 5118 60 = 23622 516" = 7.9 mm 5% = 127, mm
5 = 01968 14 = 55118 65 = 255905 38" = 9,5 mm 68" = 1524 mm
B = 0236 16 = 58055 T = 2.7558 718" = 11,1 mm 7 = 177.8 mm
0 = 02755 16 = 62099 75 = 205285 12 = 12,7 mm B* = 2032 mm
B = .0315 17 = .6BO29 B0 = 3.1486 816" = 14.3 mm 9" = 2286 mm
9 = .0354 18 = 70866 B5 = 3.34645 BA" = 159 mm 10" = 254, mm
1, = .03837 18 = .T480 80 = 3.5433 1116" = 17,5 mm 11" = 2794 mm
2, = .07T87 20 = .TET4 85 = 374015 34" = 19,1 mm 12" = 304 8 mm
3, = .1181 21 = B2ETT 100 = 3.8370 13/16" = 20,6 mm 24° = 10 mm
4, = 15748 22 = BB61 200 = T7.B74 78T = 22,2 mm 36" = 914 mm
5 = .19685 23 = .9055 250 = 9.8425 15/16" = 23,8 mm 48" = 1219 mm
6, = .2362 24 = 94488 300 = 11.811
7, = 27559 25 = .98425 400 = 15.748 To delerming a millimater 70,0 mm = 2.7589"
8, = .314% 30 = 1181 500 = 19.685 size not listed, add 2,0 mm = 0.0787"
8, = .3543 35 = 1.37793 750 = 29.5275 the components of the 0.5 mm = 0.01968"
40 = 1.5748 1000 = 39.370 desired size, for exampla: 725 mm = 2.85428°
SHAFT SURFACE SPEED CONVERSION CHARTS (RPM to FPM)
Shaft RFM
Gilam.

inch mm | 100 B0 1000 1500 2 17S0 2000 22500 23000 23800 24000 4500 5000

300

Y 12.7 13 3 85 131 196 229 262 327 83 4T 524 580 655

e 19,1 19 58 = 196 04 344 a2 4940 11 Tor 784 a2 Q80

1 254 28 T8 13 282 342 458 E24 655 785 a42 1047 1178 1308
1% 31,75 a3z =1 163 327 480 &ra B54 817 Q81 1178 1308 1472 1636
¥ 381 a9 118 185 133 R0 BET TES 976 1178 1414 1870 1T 1853
1% 4445 45 137 229 458 GAT B2 916 1145 1374 1649 1832 2061 2280
2 50,8 52 157 261 524 TES 316 1057 1308 1571 1885 2004 2356 2618
2%: ©B45 &5 156 327 BES 082 1145 1308 1638 1963 235 2618 2945 a2
3 76,2 Fi:] 235 392 785 1178 1374 1571 1962 2355 2827 214 3553 3025
v BBS a 275 458 916 1374 1804 1833 2290 2749 3290 3683 4121 4579
4 1016 10l 4 523 1047 1570 1833 2084 2818 4 arm 4188 4710 5233
5 127.0 131 193 B 1308 1863 2281 2618 3272 3092% 4712 5233 5BOO 6545
[ 1524 1567 471 TBS 1570 2356 2749 3141 382% 470 5BRS G280 TOFO  TBSOD
T 17r.8 183 549 216 1832 2748 3207 3663 4578 5845
B

g

1

2032 208 628 1047 2084 3141 665 4187 5233
2286 235 T06 1178 2356 3533 4114 4Ti10 SBBF
0 2540 261 785 1309 2618 3928 4582 5233

To convert FPM in the chart above to MIS, multiply the FPM figure by 0.0051. This is the shaft surface
speed in meters per second.

NOTE: To determine the shaft surface speed for diameters or rotational speeds for a specific case
not shown, use one of the two formulas below:

Feet/Min. = Shaft Diam. (inches) x Rev.Min. Meters/Sec. = Shaft Diam. (mm) x Rev./Min.
4 18750
TEMPERATURE sE _ Qo *C = §(°F — 32
CONVERSION F=it+a2 =8l =32

FORMULAS S




